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0000000 O je:=cross(ma(c,5),ma(c,10));xg:jc or ref(jc,1);
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0000000 O je:=cross(ma(c,5),ma(c,10));xg:jc or ref(jc,1);
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XG:CROSS(KDJJ KDJK),O OO OO (CTRL+FO OO OO OO,00O0O0O0DOOO0O
OoO,00000--00000b0b0@uoobooono)
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ML:=MA(C,5);{0 O 0 O 0 5}M2:=MA(C,24):{0 0 0 O 0 24}M3:=MA(C,72){0 0 O

O0072{000000000000}DL=BARSLAST(CROSS(M1,M2)){0 0 O O }D
2:=BARSLAST(CROSS(M1,M3));{0 O O 0 }D3:=BARSLAST(CROSS(M2,M3)):{0 O

0 0 }T1:=CROSS(M1,M2) OR CROSS(ML,M3){0 0 0000000000000}
T2:=ABS(D1-D2)<=N{0 0000 ONT.TLAND T2{0 00 O}
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